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01 A& HI 140,000 0 140,000
OEZ A HSH HME= 140,000
= 70,000
[ia 70,000
n&sn B+FHAS 44,000 210,000 A 166,000
< 22,000
[ia 22,000
401 AIEHI L 2 CHYI 44,000 210,000 A 166,000
< 22,000
e 22,000
01 A& HI 44,000 210,000 A 166,000
ONLED S2, N2 SIHZA 44,000
< 22,000
s 22,000
SEA MY HHE A 80,000 0 80,000
< 40,000
s 40,000
401 AIEHIZL 2 CHEI 80,000 0 80,000
< 40,000
i 40,000
01 A& HI 80,000 0 80,000
O=SFAMN IY=R MEMNMES AAEHES 80,000
< 40,000
i 40,000
8 sscl Mt 23l 12,000 12,000 0
< 6,000
i 6,000
401 Al HIZ 201 I 12,000 12,000 0
= 6,000
s 6,000
01 A& HI 12,000 12,000 0
OBHM 2t XIS O0lZ0lJ| 12,000
< 6,000
s 6,000
NS 0y #IFE=2H HHE &X 3,000 0 3,000
< 1,500
s 1,500
401 AlEHI R 2 OhYI 3,000 0 3,000
< 1,500
[ia 1,500
01 A& HI 3,000 0 3,000
O1nd 0lg HII=2UH HE &X 3,000
< 1,500
s 1,500
EAZA L E & X 5,000 0 5,000




fAM: 2=
M 2N
el SXNE23M (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 2,500
s 2,500
401 Al HI L 2 THHI 5,000 0 5,000
< 2,500
s 2,500
01 A& HI 5,000 0 5,000
OF LHEH AL QL& & X 5,000
< 2,500
s 2,500
SaHE JES A 12,000 16,000 A 4,000
< 3,600
= 8,400
207 A RO H] 12,000 16,000 A 4,000
< 3,600
[ 8,400
01 2739l 12,000 16,000 A4,000
OFstMH=HSLA&HY J|E=et &d 12,000
= 3,600
s 8,400
HOtA Y E2(AM2) =AM 100,000 0 100,000
< 50,000
s 50,000
207 &R 2l 100,000 0 100,000
= 50,000
[ia 50,000
01 2284 100,000 0 100,000
OZOt&E L=(A2)XA 100,000
< 50,000
[ia 50,000
DESAHOMDILE =F I 200,000 0 200,000
< 100,000
s 100,000
401 Al HI L 2 THHI 200,000 0 200,000
< 100,000
fia 100,000
01 A& HI 200,000 0 200,000
OOIM LI AL, OtXH, X2t S M E = 200,000
< 100,000
[ia 100,000
SA ABAIE HX ALY 50,000 0 50,000
< 25,000
= 25,000
401 AIEHI L 20 50,000 0 50,000
< 25,000
[ia 25,000
01 A& Hl 50,000 0 50,000
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OsSIM A3A4E &X 50,000
< 25,000
[ia 25,000
8 2t SxFH| 144,000 0 144,000
< 72,000
i 72,000
401 Al& Bl 28I 144,000 0 144,000
< 72,000
e 72,000
01 A& HI 144,000 0 144,000
OZFE2t 0 At X E = 144,000
< 72,000
s 72,000
FEHI2MN & 310,400 1,347,800 A 1,037,400
= 94,000
< 35,200
s 181,200
2SN A 53,000 53,000 0
307 21201 A 53,000 53,000 0
03 BIZIH MY E2FHIEX 53,000 53,000 0
ORYIIIMELUEH(LE2HH) 2222
A& 40,000
ORERsMAESUEA(DEsR) 222g X
2 13,000
dns2 2483 XA 119,500 142,500 A 23,000
= 48,000
< 14,500
s 57,000
307 21201 A 119,500 142,500 A 23,000
= 48,000
< 14,500
[ia 57,000
02 QB AAFEX 119,500 142,500 223,000
O2ZUIL ECH. L5017t 2CH(DHd22H) 119,500
= 48,000
< 14,500
s 57,000
MMEZSHIH ALY 115,000 112,500 2,500
= 46,000
= 20,700
s 48,300
307 gl2tol & 115,000 112,500 2,500
= 46,000
< 20,700
s 48,300
02 It M AHE X 115,000 112,500 2,500
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OFN=E L5015 MWACH ! 4 115,000
= 46,000
< 20,700
s 48,300
SW2IRH 11,900 11,400 500
307 glz2tol & 11,900 11,400 500
02 HAHFHAANGEEE 2,500 2,000 500
OZENE SAXNA 2,500
03 QIZtHNHEB2HHEX 9,400 9,400 0
Ondanw 2A XA 9,400
DEdsdsuns2 §IIs &X 11,000 0 11,000
201 Let24E] 2,000 0 2,000
01 At 22l 2,000 0 2,000
O HIIANE =4 2,000
405 TtabF S| 9,000 0 9,000
01 AL EFH S 9,000 0 9,000
OdHEI & 27| ¢ 9,000
Odtg D] 4,000,000 »2CH 8,000
o=2=7| 500,000& *2H 1,000
HdEAME EEFH| 511,844 439,620 72,224
= 205,922
< 101,777
s 204,145
HEANE Ex FH(2) 400,000 200,000 200,000
= 200,000
< 100,000
s 100,000
402 RI2HXt20l M 400,000 200,000 200,000
= 200,000
< 100,000
s 100,000
02 212t 2 AL EZ(OI X THS) 400,000 200,000 200,000
O A2 (A) H=F 400,000
= 200,000
< 100,000
i 100,000
HEANE LUMANLE SAEB(24Y) 8,200 6,660 1,540
= 4,100
< 1,230
s 2,870
201 Let24E] 8,200 0 8,200
= 4,100
= 1,230
s 2,870
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01 At 22l 8,200 0 8,200
Oz LTAIAE SAE > 8,200
= 4,100
< 1,230
[ia 2,870
HEANE STHAIAE ST (Z2 A 3,644 2,960 684
= 1,822
< 547
[ia 1,275
201 Let24d] 3,644 0 3,644
= 1,822
< 547
e 1,275
01 At 22l 3,644 0 3,644
O&E2AA SBIAIAE SXNE S 3,644
= 1,822
< 547
i 1,275
oA F=EHEH 100,000 20,000 80,000
401 AIEHI L 2CHEI 100,000 0 100,000
01 A& HI 100,000 0 100,000
OFAAN =XE =24 Y A= FH| 100,000
NEHIXE 23T 140,600 81,000 59,600
NEHXNE 23 E 91,000 71,000 20,000
401 Al HIZ 201 I 91,000 71,000 20,000
01 A& HI 90,000 70,000 20,000
OXE - HXNEEZaM Fl 90,000
03 A2 S THHI 1,000 1,000 0
OAIE 2 HHI 1,000
2010 ZEHHIHE 29 49,600 0 49,600
308 MHXIEHSOIH 49,600 0 49,600
1037/ 2S0HUHeEHEAEALS I 49,600 0 49,600
QIO ANZSHXNE EBHEE A Z JIEZA 49,600
Z 2t AR & 19,000 0 19,000
LAHES HA X 6,000 0 6,000
201 £B-2dH| 6,000 0 6,000
03 A2 Z Hl 6,000 0 6,000
OYMIHHS HALKIA 6,000
S MES ALY 13,000 0 13,000
201 Let24E] 13,000 0 13,000
03 & Ar2 Z I 13,000 0 13,000
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OZsHAIE 2E 22 2,000,000& x53| 10,000
OFstMEsd2zg HEENE 3,000
ZSH 22| 60,621 57,080 3,541
232l 60,621 57,080 3,541
101 @124l 12,821 11,280 1,541
04 JIZHHNZ22XNSE+ 12,821 11,280 1,541
OM=%g & 222 106,840 *33 «4H 10 12,821
201 ¢er24] 25,500 23,500 2,000
01 At 22l 13,860 13,860 0
OBt~ 6,300
O=2stMzel 225 8
100, 000& 404 2 +12& 4,800
O=stMHIX HIS (23t §) 7 1,500
ORI+ 7,560
O MAE UHEFE
70,000 *3H »33| «12& 7,560
02 2324l 11,640 9,640 2,000
ozE2= & HA 11,640
O=2stMael dIe3 100,000& = 12& 1,200
O2stM79 =& HEstEHE 200
OJIot23td XIYE AE. 23 A3
gl 10,000
O=23tMzel otz 20,000& 128 240
202 O4dl 2,000 2,000 0
01 = LH o4 4l 2,000 2,000 0
O2 ML RF=E LA HI 2,000
203 YR =2l 1,000 1,000 0
03 Al =AY R 1,000 1,000 0
O=s3M&cdRFL 20,000& x10E «53| 1,000
206 M= Hl 1,000 1,000 0
01 M= 4l 1,000 1,000 0
o&EdIIgE £ Mg #¢ 1,000
301 LerEa = 18,300 18,300 0
MIIEE4d3 18,300 18,300 0
O2=tM Eoaclel 24
100,000& 13 A+ 123 15,600
OdAI IS (S2)x2Y 5243
90,000& *303l 2,700
MEds 4,436,589 4,742,952 A 306,363
X 200,000
Jl 139,265
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= 27,364
= 4,069,960
HSHAFL S XS 1,405,500 1,418,500 A 13,000
= 14,000
= 1,391,500
HEsegdsid 19,000 19,000 0
201 Bt 4,000 4,000 0
01 AP 22| H| 4,000 4,000 0
OgYbt4=24| 3,000
OAZHAZE L B4 RN
100,000 *304 3,000
oY= 1,000
OM=sa 2 &gl Lt 200,000 x53| 1,000
202 o4l 10,000 10,000 0
01 2Ll 10,000 10,000 0
O =L bl 10,000
203 €2 F=&d| 3,000 3,000 0
03 Al ZH =X 2= XIH| 3,000 3,000 0
OUEZSH=HA 2H 20,0002 «10¥ =103l 2,000
OSAHAMXNEHAEY AHH 100,000 100 & 1,000
301 et A= 2,000 2,000 0
09 HAIAHI BEAZ 2,000 2,000 0
OLZ=M=0Ha AH A 50,000& *10Y x4 3| 2,000
AZXOAE & dXE2dE KA 12,500 32,500 A 20,000
201 et d| 12,500 12,500 0
01 A2t 2| H| 2,500 2,500 0
OAZX[0IAE EE2= M 1,000& *2 5005 2,500
03 A2 H H| 10,000 10,000 0
OAZL=0DIAE & HXNEERX XA 10,000
SI2SACHWG A S 4,000 4,000 0
201 et 9| 4,000 4,000 0
03 A2 HH| 4,000 4,000 0
Ost=Ustrd AU &I AEZHS W= 4,000
YA AW A AT 5,000 5,000 0
201 et 9| 5,000 5,000 0]
03 HAI2 G HI 5,000 5,000 0
OJ3YATHWZ AI| U3 M= 5,000
N ZSNSsShn st BHESIE M3 4,000 4,000 0
201 LBt ]| 4,000 4,000 0
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03 A2 Z Hl 4,000 4,000 0
ONEZ =S HHECRIEHS JHAl 4,000
2o =sUs ot 250,000 250,000 0
307 glz2tol & 250,000 250,000 0
04 QI2bBHAIAIRI 2 = 250,000 250,000 0
OXgXN=0a &ItFHX& 250,000
dI2ArEH=EUH 532 s4 6,500 6,500 0
307 giz2tol & 6,500 6,500 0
02 LAFLAFEX 6,500 6,500 0
Od=AdN=sUHI S452XE 6,500
d=H=ls 52 =4 9,000 9,000 0
307 gl2tol & 9,000 9,000 0
02 IZtA M AHE X 9,000 9,000 0
Od=H=EUa S453X 9,000
d=2A2EH=SUHE FIt 5,000 5,000 0
307 g1zl & 5,000 5,000 0
04 QIZFHALAIH 2 = 5,000 5,000 0
Od=2AUNSUHS EIHBH XA 5,000
HdIAM=SHE FHOt 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 QIZFHALAIH B = 5,000 5,000 0
O&d=Xd=0za EItFH X 5,000
ZEMSEHE FIt 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0
OZEMEUE EIHFHIX&A 5,000
DEZHNSSE LU 7,000 7,000 0
307 glz2tol & 7,000 7,000 0
04 DI2HHALALSE E X 7,000 7,000 0
OndzZ=tl NEZ L3 HEXE 7,000
DI elHE =203 8,000 8,000 0
307 glz2tol & 8,000 8,000 0
04 QIZFHALAIH E = 8,000 8,000 0
OngzZ+J 2HE =203 MK 8,000
DIEZEAEIIEI SF2UHS 6,000 6,000 0
307 glz2tol & 6,000 6,000 0
04 QIZFHALAIH B = 6,000 6,000 0
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ONHZEIEIAI F20U3 HEXA 6,000
d=3Nsstn =703 200,000 98,000 102,000
307 glz2+ol & 200,000 98,000 102,000
04 QIZFHALAIH B = 200,000 98,000 102,000
O&d=10sstuw E20Us Kzl XA 200,000
dIAEANE sS4 2HHE 42 H 8,000 6,000 2,000
307 21201 A 8,000 6,000 2,000
04 QIZFHALAIR B = 8,000 6,000 2,000
OF=AEUNE =4 JEUHE d2H HEX2 8,000
Dzt d==2U3 9,000 9,000 0
307 2201 A 9,000 9,000 0
04 DIZHHALALSE E X 9,000 9,000 0
ONYEZtf ¥=2FU3 H=XA 9,000
xS AEs ¥ dFAEMEUE 94 3,000 3,000 0
=Rl
307 21201 A 3,000 3,000 0
04 DIZFHALALSE E X 3,000 3,000 0
OZIS=SSUATUS ¥ 2EMEALEH
D ESDAR-! 3,000
2SS =TS 80,000 70,000 10,000
< 10,000
[ia 70,000
307 21201 A 80,000 70,000 10,000
< 10,000
[ia 70,000
04 QIZFHALAIH B = 80,000 70,000 10,000
o=l d=AUs Mzl XA 80,000
< 10,000
s 70,000
d=dUu=E03 30,000 0 30,000
307 21201 A 30,000 0 30,000
04 DIZHHALALSE E X 30,000 0 30,000
OdIEH =03l Mzl XA 30,000
sHEXNEH AEEeL O 51,000 46,000 5,000
307 glz2tol & 51,000 46,000 5,000
04 DI2HHALALSE E X 51,000 46,000 5,000
OsHAEXNEH AES2 D M K& 51,000
SHMsla XA 150,000 0 150,000
307 21201 A 150,000 0 150,000
04 QIZFHALAIH B = 150,000 0 150,000
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oOSHM=EU MHE X 150,000
DEZOFRE2EI Ok 3 3,000 3,000 0
307 glz2tol & 3,000 3,000 0
04 QIZFHALAIH B = 3,000 3,000 0
Ogsl &Il OF2Ua HX& 3,000
DEZ=ZE S =203 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 QIZFHALAIR B = 5,000 5,000 0
ONNEZZSTES AU BT HAXA 5,000
ldzd=sz 29 N&E 105,000 105,000 0
307 2201 A 105,000 105,000 0
03 QIZtHHHE2HEHE X 105,000 105,000 0
ondzZHd=ss 29 XN 105,000
DEZHSE 832 HdEHstHal M 35,000 28,000 7,000
< 4,000
= 31,000
307 glz2+ol & 35,000 28,000 7,000
< 4,000
s 31,000
04 QIZFHALAIH E = 35,000 28,000 7,000
OMd=z g MU Nz XA 31,000
OAN= dEM=UHa 4 4,000
< 4,000
Fagr dMENMSUHEAE ot 96,500 80,000 16,500
307 glz2tol & 96,500 80,000 16,500
04 DIZHHALALSE E X 96,500 80,000 16,500
o-dMaEMsEU=sd Fit3H X& 96,500
ZAaEE Oa2ESZUI 9,000 8,000 1,000
307 glz2tol & 9,000 8,000 1,000
04 QIZFHALAIH E = 9,000 8,000 1,000
OZg derEe=2Z0s iz X 9,000
Dt HOIESHSE 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 QIZFHALAIH B = 5,000 5,000 0
Ond==t HAOIEESUal MHE X 5,000
DEZ=AEEI f#Hel Oz 6,000 6,000 0
307 21201 A 6,000 6,000 0
04 DIZHHALALSE E X 6,000 6,000 0
Ondz=EEaAEI f#HAW MHEXS 6,000




M 25
X ZH -
L= B

el

0x
o

(&

=

i
2m

1>

4,500

4,500

4,500

4,500

FH2I W2 Mzl X

4,500
4,500

4,500

o

P83

I Atzlel oFel a3

6,000

6,000

6,000

6,000

Jl 2latis HEl K&

6,000
6,000

6,000

6,000

6,000

6,000

6,000

W

HILIADH=2 Ozl XI&

6,000
6,000

6,000

5,000

5,000

5,000

5,000

5,000
5,000

5,000

6,000

6,000

6,000

6,000

m

A2 =l K&

6,000
6,000

6,000

8,000

8,000

8,000

8,000

8,000
8,000

8,000

14,000

14,000

14,000

14,000

14,000
14,000

14,000

30,000

30,000

30,000

30,000

H

30,000
30,000

30,000

60,000

60,000

60,000

60,000

60,000
60,000

60,000

8,500

8,500




SH: 2o
Y HSXE

S MSHAZLSHIZ (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 8,500 8,500 0
04 DI2HHALALSE E X 8,500 8,500 0
OZMGFMAMSEUHE o3 H K& 8,500
24 sotel=2dHs ot 1,000 1,000 0
307 eIzl & 1,000 1,000 0
04 QIZFHALAIH E = 1,000 1,000 0
oZgsot2g sl Fotdd X 1,000
Dt 2 =3 10,000 10,000 0
307 2I2+0 & 10,000 10,000 0
04 QIZFHALAIH B = 10,000 10,000 0
OndZ=tl ==l M= XI& 10,000
ZEEa & NEU2 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
OZEEalZtl MSHal izl XI& 10,000
ZEE3 &I 203 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 DI2HHALALSE E X 10,000 10,000 0
O3 Ea I BEUa MHa XA 10,000
dI3NsstuEaEE72U3 40,000 0 40,000
307 glz2tol & 40,000 0 40,000
04 QIZFHALAIH B = 40,000 0 40,000
OX=NSHDBY =203 HEH X 40,000
DNz AE U 3,000 0 3,000
307 21201 A 3,000 0 3,000
04 QIZFHALAIH B = 3,000 0 3,000
Oondzsrd =202 MHE X 3,000
2ENES2HLUS 30,000 0 30,000
307 gl2tol & 30,000 0 30,000
04 DIZHHALALSE E X 30,000 0 30,000
OZEMNSSLLHa HE XA 30,000
HESEHINEH I 12,000 0 12,000
201 et 4,320 0 4,320
01 At 22l 4,320 0 4,320
oOgxz & EHINY S 4,320
301 et a3z 7,680 0 7,680
09 &AL HIZ A S 7,680 0 7,680
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Ao B s (BH) - AR A e
og&dEd P X AH=Z4 7,680
M=gd3t 304,592 305,992
Il 115,236
=) 10,275
s 179,081
HEHSNY 23 16,128 16,128
=) 4,838
a 11,290
307 21201 A 16,128 16,128
=) 4,838
s 11,290
02 It HAAMHEE 16,128 16,128
CdEMsELs 2Y 16,128
< 4,838
a 11,290
daysZz2 0y 29 9,792 9,792
< 2,937
[ia 6,855
307 glztol & 9,792 9,792
< 2,937
[Ea 6,855
02 UAHFHAEEX 9,792 9,792
O0eloldsnad=d 3,168
=) 950
s 2,218
OFLENENAE2Y 3,168
< 950
ia 2,218
o¥=MEUst=d 3,456
=) 1,037
= 2,419
LEtUE X F X A B XA 163,648 163,648
Jl 76,824
= 76,824
307 21201 & 163,648 163,648
Jl 76,824
= 76,824
02 HAHFHANGEEX 153,648 153,648
OLdetda SR A HHX 153,648
J| 76,824
[ia 76,824
MEHSANEN 2dSKH 28,800 28,800
307 21201 A 28,800 28,800
02 2 HAMAEE 28,800 28,800
OLetHEHSXN A S 28,800
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HEAMUEMSXZ A i XA 76,824 76,824
J| 38,412
s 38,412
307 gl2tol & 76,824 76,824
J| 38,412
s 38,412
02 It HAHE L 76,824 76,824
ONZAMEH XX HH X 76,824
J| 38,412
= 38,412
HEAMMEWSNEZA 25X 14,400 14,400
307 glz2tol & 14,400 14,400
02 QIZtE M AMHEE 14,400 14,400
onziMeExNsXNEI g3 XA 14,400
ZOAM=ES0tel K& 5,000 6,400
< 2,500
[ia 2,500
307 21201 A 5,000 6,400
< 2,500
[ia 2,500
02 IAHFAAHEX 5,000 6,400
OZOHQ X =S0tel K& 5,000
< 2,500
s 2,500
HEss4d3AY 184,327 153,662
J| 24,029
< 3,089
s 157,209
HEdEREIAEE 2,000 2,000
301 et A3z 2,000 2,000
1MIIEESS 2,000 2,000
ON=EZERISA HE 100,000& =10 1,000
OuN=RSA 2& 100,000& =10 1,000
NEgsLERH2SE 12,000 12,000
307 21201 A 12,000 12,000
02 ItFAAHEX 12,000 12,000
ONdRAHNNRE 23 XA 12,000
AZX2AEN 0IEH ALY 34,327 25,662
J| 24,029
< 3,089
s 7,209
307 21201 A 34,327 25,662
J| 24,029
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= 3,089
s 7,209
02 IZtE M AHEE 34,327 25,662 8,665
OAEZ=2H 0/8H At 34,327
J| 24,029
< 3,089
[ia 7,209
HssL2ss 46,000 24,000 22,000
307 21201 A 46,000 24,000 22,000
02 QB AAFEX 46,000 24,000 22,000
oMsxzUR 54 XA 46,000
HsdHe X 90,000 90,000 0
307 gl2tol & 90,000 90,000 0
02 It M AHE L 90,000 90,000 0
OMSIME X 90,000
HMEIELAIE S AL 1,216,780 1,785,000 A 568,220
Xl 200,000
s 1,016,780
HMSAEAS 366,780 725,000 A 358,220
401 A& HIZ 201 I 366,780 725,000 A 358,220
01 A& HI 364,780 720,000 A 355,220
021l 2SIIFEX 50,000
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